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L IHMUT >

B K % Fill=: FHE KK B i
1 il .S S /N 3/ 3 31.59 10#% ( 0.69)

- JOC

2 /NE R IR B 75 S C N3 2/ T 33. 64 12% ( 0.76)
3 M WA K7 75 S C ! 1/ 5 34.76 8#k ( 0.63)
4 H)I o $JY IE.S S /N4 1/ 3 36. 01 8% ( 0.64)

No.9 ZF¥ 50m BEHF A L L—R R KL 26.34

L 10 >

B K 4 T B FE KK B i
1 HY. 3 NVT v N5 3/ 1 31.98 9%k ( 0.75)
2 VEREDND EBEfhRsSS /4 2/5 32.58 9% ( 0.68)
3 t&EE W Iz B S C /N 3/ 9 32. 67 9% ( 0.66)
4 B i I EFgRSS /N 1/ 6 33.74 8#% ( 0.69)
5 JRH  #kEE a0 IR /N5 2/ 4 33. 86 8#% ( 0.68)
6 B B S S /N5 2/ 8 33. 94 8#k ( 0.67)
T &% R NI /NG 2/ 6 34.12 8% ( 0.76)
8 /MZ3EA K Rz 4w NS 1/ 4 34.71 7#% ( 0.70)
9 SEA  HIK INUEHEIR b 1/ 7 35.29 % ( 0.73)
10 | ik =AM 1) /N5 2/ 3 35.35 Tk ( 0.81)
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L 1 >

B K % il FHE KK B i
1 Els EZE 7B S S /N6 6/ 9 29. 80 10#6% ( 0.67)
2 HEE HE KiEILS S /N5 5/ 6 30. 97 9% ( 0.69)
3fEM  Eme VAR /N6 3/ T 31.69 8% ( 0.77)
4 B A I B.76 S C /N5 3/ 8 32.217 8k ( 0.72)
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L 12 >

B K % il FHE KK B i
1w Mz VAN 1 3/ 6 29. 25 9f% (0.71)
2 HH EK 77 hARHE  H1 5/ 8 29. T 9% ( 0.65)
3 Mk JhE RS S 1 5/ 9 29.73 9% ( 0.66)
4 HIE BX VAR AN /N6 4/ 5 30. 28 9% ( 0.66)
b iRk HAE RS S /6 3/ 4 30. 52 8% ( 0.73)
6 JEE Ve S C 1 4/ 9 30. 84 8k ( 0.76)
78R AR = vy /N6 3/ 2 30. 91 8%% ( 0.69)
T EAR R aNCEBR N6 4/ T 30. 91 8% ( 0.76)
9 EHH S At Al B /N6 3/ 5 31.30 8tk ( 0.64)
10 HEASE o Al . 1 4/ 3 31.39 8% ( 0.66)
11 AfpfhiZss VAR 1 4/ 2 31. 47 8% ( 0.78)
12 IR X 7B S S 1 4/ 8 31.63 % ( 0.70)
13 B AhsE =y N6 4/ 1 32.07 % ( 0.75)
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1 HKk MWE B S C 2 7/ 7 27.99 10#% ( 0.65)
2 Ml EREE IIFS'S 2 6/ 3 29.29 9%% ( 0.66)
3 it HEiTr RSS2 7/ 9 29. 60 8% ( 0.67)
4 T e NVT ¢ 1 6/ 4 29.93 8k ( 0.74)
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5 PRk VYA 2 5/ 1 29.97 8#% ( 0.61)
6 5 LVEh WAV Hh2 4/ 6 30. 65 7% ( 0.68)
T EHE S B oI K 1 5/ 2 31.26 T#k ( 0.75)
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L 4% >
B & £ Fr & FE KK B [
| TRk HvE JSSZBHR H2 6/ 7 29. 42 8#% ( 0.66)
2 /MR PRSP =y RN N °= 13 6/ 8 30.02 T#H% ( 0.70)
3 Kb H3E =N N = 12 5/ 7 30.52 7% ( 0.82)
4 JEH BT RS S 2 4/ 4 32.217 5%% ( 0.74)
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B & £ T & FE KK B [
1 PE FEFRS S @&l 7/ 5 27. 81 9%k ( 0.64)
2 H#H T KBS S =a| 6/ 6 29.07 Stk ( 0.70)
3 B LR =PANAN5] = 7/ 3 29.09 8% ( 0.68)
VANEES = AN 1) =8| 7/ 4 29.30 8#% ( 0.70)
5 ik BHE = il 7/ 1 29. 34 8#k ( 0.61)
6 RATHICE KRS S H3 7/ 8 29. 39 8tk ( 0.64)
7T EOK OtHE I E.S C = 6/ 5 29. 80 7#% ( 0.66)
8 ] HE & WAV 3 6/ 1 30.00 T#k (0.73)
9 Rk T 216 WL w2 5/ 4 31.23 6#% ( 0.57)
10 #)I 2EA EREK = 5/ 3 31.36 6#% ( 0.66)
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B & £ ir & FE KK B FH
1 Ay A B I B.p5 S C =3 7/ 2 29. 35 7% ( 0.62)
2 /R R &= H & &3 5/ 5 30. 34 6#% ( 0.66)
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